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(a) &M 1.5 cc, 53.15 cm?®, 1.02 L DEBICA- 7K Z 2 TR L LROEEE kg DA TRD X,
(b) A student measured a physical quantity x, and obtained the following values.

380, 411, 318, 485, 406

i. Calculate the mean (average) of the distribution Z, the standard deviation of the sample s, the standard

deviation of the distribution o, and the standard error in the mean o,,.

ii. What is the probability that a single measurement lies in the following ranges?
(i) 340 — 520 (ii) 460 — 461 (iii) 100 — 460
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(¢) In the following examples, F is a given function of the independently measured quantities X, ¥ and Z

with the standard deviations AX, AY and AZ, respectively. Calculate the standard deviation AF'.
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